

# R M M

ROMANIAN MATHEMATICAL MAGAZINE

www.ssmrmh.ro



If  $x, y, z \in (0, 1)$ , then prove:

$$\sum \frac{z^2}{(1-x^2)(y^2+yz+z^2)} \geq \frac{3\sqrt{3}}{2} \cdot \frac{xy+yz+zx}{x+y+z}$$

Proposed by D.M. Bătinețu-Giurgiu, Neculai Stanciu-Romania

Solution by Mohamed Amine Ben Ajiba-Tanger-Morocco

From AM – GM, we have :  $x^2 + \frac{\sqrt{3}}{9x} + \frac{\sqrt{3}}{9x} \geq 3 \sqrt[3]{x^2 \cdot \frac{\sqrt{3}}{9x} \cdot \frac{\sqrt{3}}{9x}} = 1$

$$\rightarrow 1 - x^2 \leq \frac{2\sqrt{3}}{9x} \quad (\text{And analogs}) \rightarrow$$

$$\sum \frac{z^2}{(1-x^2)(y^2+yz+z^2)} \geq \frac{9}{2\sqrt{3}} \sum \frac{xz^2}{y^2+yz+z^2} = \frac{3\sqrt{3}}{2} \sum \frac{(zx)^2}{xy^2+xyz+xz^2} \geq$$

$$\stackrel{CBS}{\geq} \frac{3\sqrt{3}}{2} \cdot \frac{(\sum zx)^2}{\sum(xy^2+xyz+xz^2)} = \frac{3\sqrt{3}}{2} \cdot \frac{(xy+yz+zx)^2}{(xy+yz+zx)(x+y+z)}$$

Therefore, 
$$\sum \frac{z^2}{(1-x^2)(y^2+yz+z^2)} \geq \frac{3\sqrt{3}}{2} \cdot \frac{xy+yz+zx}{x+y+z}$$